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. HT9¥ TERT AF NS A W BT qv HiA-TEe Ser F MUR W omgEr RfEd oden &
mmmﬂ%lﬁjﬁﬂ.@w&ﬁtmm

You have been called for the written test based on the online data furnished by you in the web application.
If you have wrongly entered in the web any information or you do not possess the required
qualification as per our advertisement, your candidature will be rejected.

2. WeA-9d, 80 WAl § T RA-YRTH F FU & ¢ AR olew Hir 3= 02 @2 7

The Question paper is in the form of Question Booklet with 80 questions and the duration of the test is
02 hours.

3. 9 faweut Aiga argess R & wea g o ¥ % oF awfeew ¥ @ & g

The questions will be objective type with four options out of which only one will be unambiguously correct.

4. A% W F v 01 3w gidt 3 u% 199 3cax & AT 0.25 37 Fer S|

Each question carries 01 mark and 0.25 marks will be deducted for each wrong answer.

FUIT gET g5 &@/P.T.O.



5. el & I &7 & AT Fer A gfd @i srerer AMTAIR Sear-qfaeT & smoefn
A separate OMR answer sheet with carbon coated copy will be provided to mark the answer options.

6. P AH/FN T F e 97 ¥ NANRN S -YReawr # Fdfea sifaer # 3ifwa
T T 3o H 997 PN &1

You have to select the right answer by marking the corresponding oval on the OMR answer sheet by
bluefblack bali point pen.

7. % YT & TAT 3HF 3ol IS Seal AT S|
Multiple answers for a question will be regarded as wrong answer.

Question booklet code printed on the top right comer should be written in the OMR answer sheet in the

space provided.

9. WA-GRPAH A HIUH FAH TUT HTHAF TE o
Enter your Name and Roll Number correctly in the question booklet.

10. JTANR ScR-gRasr & Ffr gfafSear defyae W@ & afT aEeda & & 6 s @il
All entries in the OMR answer sheet should be with blue/black ball point pen only.

11. 9fam giar & Aders i sufdafa F & g gia-Ree W g&awR =T arfguy

You should sign the hall ticket only in the presence of the Invigilator in the examination hall.

Computers, calculators, mobile phones and other electronic gadgets, text books, notes etc., will not
be allowed inside the written test hall.

On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand over
the original OMR answer sheet to the invigilator and retain the duplicate copy with you.

14, weT-gieast Headf Ie O W@ Aed §
The question booklet can be retained by the candidates.

15, qdem & SRier Ireafdat vy wliew gia Bis @ IAfa AW B
Candidates are not permitted to leave the examination hall during the examination.
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GRITAA-T / FIREMAN-A

Rt T ®I T 4 B e fafte et ) o 9 § qut mn R

Various expenditures incurred for publishing a book are represented in the Pie chart.

Transportation

rinting Cost
20%

Promotion
Cost
10%

~ el e -
205908
2220

PP g Pt Pk P Pt Pt Pt
NS AR SNs PP Nl SNl D P

T TS Pp PP Pt ot Pt Pk Pt Pod
QL T S Pl Sy Pt Pt St )

3} forelt w1 I YEW AP % F9 H 3000 T B WIAH HE1 ISa1 & N 39 qiEed & Riw Read ol
1 PIAH ST {7

If a publisher has to pay Rs. 3000 as the printing cost then what amount he has to pay for
transportation?

(a) 300 b)) 1500
(© 225 d 120

GHEHHALLRAAIRB AT RaFaR I MIgr4RTi s Fausm w0 §, =
BC M 1 fi €

A can do a work in 15 days and B in 20 days. If they work on it together for 4 days, then the
fraction of the work that is left is :

(a) 1/4 b 110
(© 1715 (d) 8/15

T & #, fru et w3, seclt & 9 =Y, g & sd wetew faw  faam @ shvenfia fee

Recently, which historical site earned the title of the 8th wonder of the world, surpassing
Italy’s Pompei?

(a) 9IEHF / The Parthenon (b) I/ Petra
(c) STRIER / Angkor Wat (@ T==4 %1 / Chichen Itza

3 1501



-9 § T H1 gAH 27

What does the slope of the velocity-time graph give?
(@) 7 / speed () 97/ velocity

(¢c) < / acceleration (@ fowam / displacement

HIE S HT R 91 9T S HUT B g Gehat § aiafda v 27

Which part of human ear converts sound vibrations into electrical signals?
(a) & /Retina

(b) Q'E-‘.T / Stirrup

(¢) wuiveg fieeht / Tympanic membrane

(@ et / Cochlea

wa At < o g o E ey @
The image formed by retina of human eye is

(a) Fmar 3T e / Virtual and erect
(b) TeAT 3T 32T / Real and inverted
() Rl 3 I / Virtual and inverted

(d) 3Tl 3 Hiur / Real and erect

Ife 200 Q Wity a1 et =Teis & 5 e % 0.2 A g yaifeq <6 9e @ fpeit s 3ca= gnfi ?

%
L

How much heat will be developed if 0.2 A current flows through a conductor of resistance
200 Q for 5 minutes?

(@) 40J b)) 2600J
(© 200dJ (d 24004d

TS TR € ®1 AR 115 O ¥ | IR 3% 3 A UR vaTRd St &, O Iue o wiRe w0 7

A water heater has a resistance of 115 Q. If 3 A current flows through it, what is the power of
the appliance?

(a) 1035W (b) 460W
(c) 345W (d) 38.33W
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10.

11.

12.

13.

ARHRFETET St FB W1 51 SR s7d 2, Hfeeeiiey efiten fefifan 1 s a7 & ok
fafsarpo =1 SR w9 ar 8

Mycobacterium leprae causes leprosy, Corynebacterium diphtheria causes diphtheria
and Vibrio comma causes

{a) %H-E?N / tetanus
(b) IR / influenza
(©) & /cholera

(d) <E®HES / typhoid

Aiadize 44 o1 FfasER fpa fear?

Who invented the BALLPOINT PEN?
(a) f&T wed / Biro Brothers

(b) TS wed / Waterman Brothers
(c) fo wed / Bice Brothers
(d) Tse 38 / Write Brothers

eanfi o Yeaw <t @ fea At 3 & iy

Which scientist discovered the radiocactive element radium?
(a) IS & / Isaac Newton

(b) e A / Albert Einstein

(¢) A H%RM / Benjamin Franklin

(d) =0 wgl / Marie Curie

wTRfa % S B 8§ 7

Who is the father of Geometry?

(a) 3/ Aristotle (b) T{!ﬂﬂg { Euclid

() TSYPIE / Pythagoras (d) FIR / Kepler

W 3 8 fopg & § wiig 87

Professor Amartya Sen is famous in which of the fields?

(a) i@ WA / Biochemistry (b) T / Electronics
(¢) s / Economics (d) ‘3-@311’-! ! Geology
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14.

15.

16.

17.

18.

wf H fre 38 @ fwifa 9k @
Pitch of sound is determined by its

(a) 3T|?{ﬁ'l / frequency (b) AWM / amplitude
() T / speed (d) 9ol / loudness

fyeffaa § @ Sxqat # wwehren Ram % e @RI § g uig w1 3w fean s 27

Which of the following metals is used in electroplating to make objects appear shining?
(a) &l / iron
(b) HfEE / chromium

(¢) repftfEm / aluminium

(d) s/ copper

frfrfad § § $ W A TCTH T h) ATHIH-TE GHAT P FTH TG TH TH HL A 82

Which of the following air pollutant reduces the oxygen-carrying capacity of blood to a large
extent?

(a) HeHL SHATFEEE / Sulphur dioxide

(b) THTEA SIZATEARS / carbon dioxide

(c) ATESIS AFISIIEATSS / nitrogen monoxide
(d) A HFAATHTES / carbon monoxide

frafafea @ TR0 NIFA H AYST R TE T &

The Kyoto Protocol is associated with one of the following. This one is:

(a) aS i Al 6 B AL # %1}/ reduction in pollution of fresh water sources

(b) FANFAR HEA =+ 4 § FH1 / reduction in the use of chlorofluorocarbons
(¢) sy A4l & @A # i / reduction in the emission of greenhouse gases
d = ﬁ&‘ﬁ & s § M / reduction in the cutting of forest trees

frerfifiga § & af g § B13 T FeRRITAREEA A g ST @ B i qe # et W agsme?

Which of the following will reach the earth in greater amounts if the amount of
chlorofluorocarbons released into the air increases?

(a) 7ot fF0 / Infrared rays () & Rewl ) UV rays
(¢ -1/ X-rays (@ T R / Gamma rays
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19.

20.

21.

22.

23.

TF O O ¢ 32 F oot % ey wilen o wh A9 o g S % 9F # giten s S 2|
Hiet o =1 i B7

A solution reacts with crushed egg shells to give a gas that turns lime water milky. What does
the solution contain?

(a) NaCl (b) MgCl:
(¢0 HCl (d LiCl

forelt oft @rar yraen 6t vgeht H AHIR W R WY g § Fifh,
The first link in any food chain is usually green plants because,

(a) 9 =9k ¥4 ¥ fuafid & / They are widely distributed

(b) = Pt ¥ & wam W fRr @a § / They are fixed at one place in soil

(© T A5 @ g F THm 4 Wiod H EHANT FA F guar St & / They alone have the
capacity to synthesize food from sun light

(d) wEmEnEl 6 g § Wi Sfi|l it @@ A% 8 / There are more herbivores than

carnivores

FrfaRea # 3 = @ s $hm wifRRe @ 7

Which of the following is an artificial eco system?

(a) dE / Pond (b) & % €d / Crop field
(c) #</ Lake (d) e/ Forest

oia 6 wife i 358 ®

The unit of power of lens-is

(a) Thagd / Sieverts (b) @R / Centimeter

(¢) SRIX / Diopter (d) §9F / Lumen

SHTST T QU1 TR T d9 Y B & 9 YH ——————— § T T 8

Total internal reflection of light is possible when light enters from
(a) F R gE1/ Water to air

(b) &1 ® 9E / Air to water
{c) a'?ﬂ[fl ¥ g1 / Vacuum to air
(d) B ¥ HE/ Air to glass

7 1501



24.

25.

26.

27.

28.

5 forelium geam o1 G i w1 an 10 dfievdhs 21 3/ 25 ¥ U & foTU 3mavass ot 9id

A body of mass 5 kg is moving with a velocity of 10 m/s. Find the force required to stop it in 2s.

(@ 5N ®) 25N
(© 20N (d 30N
fefafas T a fresa e 2

Green House gas among the following is
(a) RfSE / Oxygen

(b) EA SEAEEES / Carbon dioxide
(¢) TgeSA / Nitrogen

(d) * ¥EEH / Hydrogen

Frforfaa # @ Fen ST w1 e T 27
Which of the following is NOT an example for sublimation ?

(a) AwuAHA el =l agqg?ha qiifeafaat & g geTl W& 9T / Naphthalene balls kept open to

atmospheric conditions

(b) B FAEEH H 7™ FAT / Heating of solid iodine

(©) 5 ok & TgHeey uifRfemt % gush # §H1 / Dry ice exposed to atmospheric conditions

(d) =&+ arguesa TRl § war SH1/ Iee kept at atmospheric conditions

7 T w1 FHEH 573.15 K 2, O 9% TN THH SO 8

If the boiling point of liquid is 573.15 K, this temperature is equivalent to

(a) 279degC (b) 300degC
(¢) 399degC (d 270degC
o el smsEity T 27
Which is not a radioactive isotope?
(a) €REM-137 / Cesium-137 (b) SAFEM-210 / Polonium-210
(¢) wIEM-90/ Strontium-90 (@) FAREM-40/ Calcium-40
8
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29.

30.

31.

32.

33.

34.

THEAH YT ITeE S A0y g ]

Resistance of a uniform metallic conductor is

(a) <=1§ % € FAGNRE / directly proportional to the length

®) = F g gAEufaE / directly proportional to the diameter
(c) TWI§ % SGRATUINIS / inversely proportional to the length
(@ WieE % WY FuEaias / directly proportional to its thickness

T F ITAT B G G TR aedis 9 snufE 27

The food preservation using salt is based on the technique called
(a) TvEEA / Filtration

(b) SRR / Capillary action

(¢) T / Dissolution

(d) TUEWT / Osmosis

98 A% A THR] % IR Afermr 3 SR TEeT # e 8

The tissue that covers most organs and cavities within the animal body is

(a) WEUIE FHak / Muscle tissues (b) 3I9%dT / Epithelium
(¢) @@=/ Skin (d) = &9 / Epidermis
ST FSHAT H TH IS

An example for bacterial infection;

(a) &A1/ Tuberculosis (b) WHU/ Measles

(c) YT/ Mumps (@) wifer™ 7 Polio

Th 1 YT 9 T TEEal A aren i 8

Vitamin that helps clotting of blood is

(a) Trefa B/ Vitamin B ®) Tef® C/ Vitamin C
(¢) Faafm A 7 Vitamin A (d f&f| K / Vitamin K

frg g ! ©Tel U% 3 TW F ST S 82

Which planet is known as red planet?

(a) W UR / Saturn (b) I / Venus
(c) Wﬁl / Jupiter (d) WA UE / Mars
9
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35.

36.

37.

38.

39.

40.

R 3 g & o 1o e ‘anfdea L1 i TR | "L W HaeE 21

India launched its mission to the sun named Aditya L1. "L" stands for

(a) Last point ()
(¢} Lagrange point (d)

Epée, Sabre 3R Foil f5a wet wiewitfir & weftm §7

Lonely point
Long range point

Epée, Sabre and Foil are related to which sporting event

(a) U / Rowing () HEhEl / Boxing
(c) % / Fencing (d) HsSHAR / Equestrian
T 6 & FRO Af % hEa § Hafa o g gae 1 wH a1

The location of a recent accident involving trapping of workers due to Tunnel collapse was in

FR@sS / Jharkhand
qfgm se / West Bengal

HEq AI3AEEES / Carbon monoxide
FEdieH 7 Oxygen

gargsw / Conduction
arsfienr ; Condensation

= )

(a) ITT@S / Uttarakhand ®)
(¢) few=@ W= / Himachal Pradesh (d)
e o @ 5 SaeEsia 1 80
Which among the following is a flammable gas?
(a) W / Argon (b)
(¢) @™ / Helium (d)
T § A G SHT I BT qlies a1 87
Which of this is NOT a mode of heat transfer?
(a) fafrror ; Radiation (b)
(¢) %a®|M / Convection (d)
g # Ramn mn TEw e R o
A traffic road sign shown in a triangle is a
(a) ¥=a% / Cautionary (®)
(¢) g / Informatory (d)
10

Sign.
IS / Mandatory
fwam® / Regulatory

1501



41.

42.

43.

44.

0°C W g & @l & 7fa 21
The speed of sound in Air at 0°C is
(a) 331U/ m/min

(b) 331 3H/AFE / cm/sec.
(© 331 farfi/@%s/ km/sec.
(@ 331 H/A%S / misec.

T A I e B wad 30% H ge 3 W ] AR @ 840 T A 91 i B | FHh WAL
Frutfa =1

A shop is offering a discount of 30% on M.R.P for shoes and it is sold at Rs. 840. Determine its
M.R.P?

(@) Rs. 900 () Rs. 1000
(& Rs. 1200 (d) Rs. 1300

SR T H @I YA B 9T FA B T g Wi

Cooking time is reduced in a pressure cooker because

(a) Y =1 FaLEiS Se1fd B ST 8 / Boiling point of water is elevated
(b) I H AR FH Bl 51 & / Boiling point of water is reduced
(¢ W | GAT Tedl TH BITaT 8 / Pressure soften the food quickly

(d) 7 awm &9 } faf Bt & / Heat is uniformly distributed

3 ey S, 3 et e ik 2 iR 91 aret & # T 3 I Y TR

Compute the weight of water in a tank of size 3 m in length, 3 m in width and 2 m in
height.

(a) 18724 /tonnes (b) 977 /tonnes

(¢) 14.574 /tonnes (d) 87¢A / tonnes

i1 1501



45.

46.

47.

48,

49.

Wmﬁwaﬁ 1 Sadl 2024 & ST TR Fewwr I A (PMGKAY) 3R frar i
% fore =g e 27

The Indian government has recently extended the Pradhan Mantri Garib Kalyan Anna Yojana
(PMGKAY) scheme for how many more years from January 1, 2024?

(a) 5 ® 3
(c 4 (d) 10

ABAdA T wsr, N CA A wer 21 AR A, B 3R CH 3 31 27 ], T B R g Feerft 22

A is two years older than B who is twice as old as C. If the total of the ages of A, B and C be
27, then how old is B?

@ 7 b 8
) 9 @ 10

7t wr =fw 10 fefida & s9 . 14 Rerfireier < fy A o 2, @ 9% 20 fed it T ]| 9%
TR 7 6 T St gl 2

If a person walks at 14 km/hr instead of 10 km/hr, he would have walked 20 km more. The
actual distance travelled by him is:

(a) 50km () 56km
(¢ 70km (d 80km

W F SiEw, T 99 6 TR 54 Feft vf der B o Wik wivd 98 45 Frdt wf a1 B | 99 Wiy o
Tran e wfa 27

Excluding stoppages, the speed of a bus is 54 kmph and including stoppages, it is 45 kmph.
For how many minutes does the bus stop per hour?

(@ 9 ® 10
© 12 (@ 20

o T o v 25 At B 3t T A 12 it ft | 3TEE w1 9N B R

The diagonal of a rectangle is 25 cm and its area is 12 sq. cm. The perimeter of the rectangle
must be:

(a) 9cm ® 20cm
(¢ 1l4cm (d) 12cm

12 1501
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50.

51.

52.

53.

54,

o 3w 0 % o Roem STt 1 SwEm R st 27

Which is the device used to generate electricity?

() T€MRT/ Ammeter
(b) Teaapfiet / Galvanometer
(¢) SHe / Generator

(d) T/ Motor

fraferfem § & et gwr &7 siftvwa 27

Which among the following is having maximum field of view?
(a) 3‘\‘[?[ g1 / Convex Mirror

(b) 3Eds <99 / Concave Mirror

(c) 9ae gdw / Plane mirror

(d) H9GA =ad g4 / Plano concave mirror

S 6 9t ST F TH T8 F SEa U F G 3T 10 U it g T v wman R, o S T 16
R B wW Bt 31 Bl i 3o 7w il

When an object of height 6 cm is placed in front of a concave mirror at a distance 10 cm away
from it, an image is obtained 16 cm away, on the same side. Find out the height of image?

(a) -6cms (b) -9.6cms
(¢ 8.1cms (d Tcms
YT 6 A0 g @

The nucleus of an atom consists of

(a) ATH IR =M / electrons and neutrons
(b) TS 3N WM / electrons and protons
(¢c) WieH 3R =R / protons and neutrons
(d) %Fd REH / neutrons only

I e 2 1 61 Rl ¥ w1, 7'
Today is Monday. After 61 days, it will be:

(a) FUER / Wednesday (b) WfER / Saturday
(¢) TWIER / Tuesday (d) TR / Thursday
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55.

56.

57.

58.

59.

SrRET % g F e e ym F@ H gaaw Iy R

The minimum age to qualify for election to the Lok Sabha is

(a) 2599 /years (b)
(¢) 189 /years (@)

2194 / years
3599 / years

i il ) SdUE Y A1 UM 4: 7: 9 71 203 I ugwt, I 3G H AW 56 AT | IHI FwAN

31y (Nt ) ¥ B

The present ages of three persons in proportions 4 : 7: 9. Eight years ago, the sum of their

ages was 56. Find their present ages (in years).

(a) 8, 20,28 (b)
© 16,28, 36 (d)

20, 35, 45
8, 16, 32

T Agn A, qel i S W o, wf-wf w9 35T w1 T BT § | s6e e Sowrh 99 2

During dry weather, while combing hair, sometimes we experience hair flying apart. The force

responsible for this is

(a) ga$r 9 / magnetic force

(b) ﬂﬁﬁﬁfﬂ o / force of gravity
{c) ﬁi@ga 9d / electrostatic force
(d) =N 1 & / force of friction

Freferfiga I @ = 91 9@ GUh T 87

Which one of the following forces is a contact force?

(a) TN 5 / force of gravity (b)
(¢) Yab T / magnetic force (d)

wregAl e g A € R

A list of mediums is given below.

(@) «hsE / wood

@) 9/ water

(i) 97 / air

{iv) faia / vacuum

7 § forg mreEm o @l g a7

In which of these mediums can sound travel?
(a) e (i) 3R (i) / () and (i) only

(b) A (iii) 3N (iv) / (iii) and (iv) only

(© Sae (i), (i) 3 (i) / (@), () and (iii) only
@ @, @), [ii) 3 Gv) / (), @), (i) and Gv)

14

o1 T 6 / force of friction
fRRAYA & / electrostatic force
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60.

61.

62.

63.

64.

65.

Tt T e o e ST g o
Disinfection of water is done by
(a) A / Chlorine (b) BEESH / Hydrogen

(¢) WfEM / Sodium (d) URREW / Potassium

Frafafea d & eliy dRRRw amleRs 3R woflm T TR F W9 IRl faenw wifean ), o=
IFEFE H Th fient 398 war ] | wfafafy v oo aft de TR Iucten 7€ 8, @ ST ™ F W
F T R Foe I fmn s awar 27

In the double displacement reaction between aqueous potassium iodide and aqueous lead
nitrate, a yellow precipitate of lead iodide is formed. While performing the activity if lead
nitrate is not available, which of the following can be used in place of lead nitrate?

(a) ©E Gwhe (M) / Lead sulphate (insoluble)

(b) 38 TR / Lead acetate
(¢) 3mifEm 711326 / Ammonium nitrate
(d) URfrm we%e / Potassium sulphate

36 fomfifzr & o A I 1500 freimmt 61 it & U % fore fpe 9 Tt el =t oEn =X

Calculate the work required to be done to stop a car of 1500 kg moving at a velocity of
36 km/h.

(a) 0.75kd (b) 7.5kd

{©) T5kd (d 750kdJ

et Ty u1g & wew w0 §

What are the constituents of solder alloy?

(a) €& AR A / Lead and Tin (b) €\ 3R &N / Lead and Zine

(¢) Hmn 3 ¥ / Lead and Iron () R 3R vegfifem / Lead and Aluminium
Tgta el feaw & ad Rew Rom v W 27

National Unity Day is observed every year on

(a) Val 26 / Jan-26 (b)  IFER 28 / Oct-28

(© 3| 31 / Oct-31 (d) -==R-01/ Nov-01

WM CaOCl: %1 MY -IH 1 87
What is the common name of the chemical CaQClz?

(a) hell A1 / Quick lime () =Afifam 9Eet / Bleaching powder
(¢) AfHN WS Baking powder (@) =fim A=y Washing Soda

15 1501



Tae gdur Y Wy g B R

The focal length of a plane mirror is
(a) T / Unity

(b)y T/ Zero
(0 34 / Infinite

(d) 3mufera wenrsr < Fareed @ foft wt@T 2 7 Depends on wavelength of light incident

Ggfera wffe T a Fe + b H2O — ¢ FesOa+ d He ® a, b, ¢ 3R d % w9 §

In the balanced equation- a Fe + b H:0 — ¢ FesOs« + d Hz, the values of a, b ¢ and d are

68.

69.

70.

respectively,

(8 1,4,1,4 ®)
© 1,111 (d)

Wom 947 3R I F g sttwiew grn | Ty ot | @ s fRufa = e St @

3,4, 1,4
1,4,1,1

Condition produced by aerial oxidation of fats and oils in food marked by unpleasant smell and

taste is called
(a) dG / aeration

(b) WieST=A / antioxidation

(¢) JIAEIH [ reduction

(@) faganftar / rancidity

3 e wig3l % o fF w € @ I ———— N Pt 21
Acids when react with metals, it evolves gas.

(a) He b H0

© CO d CO:

qre faser fpae o 87

Amalgam is a mixture of

(a) Wfeaw 3 9W / sodium and mercury

(b) gl / metals

{c) UH ug IR YT / a metal and a non-metal

(d) ier 3 91 / iron and silver

16
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71.

72.

73.

74.

75.

H TS IARF P IR F TGO FI 2 M AN U EH W IMF Qv F = R

There is some relationship between the two terms on the left of :: and the same relationship

holds between the two terms to its right
PALE: LEAP :: POSH : ?

(a) HSOP (b) POSH
(© SHOP @ HOPS
@iy it emgft & forq SI 5 8

SI Unit for frequency of sound
(a) dT¢ HeT / Watt hour

{b) ?{\Eq—ﬁh / Newton-second
{c) Y9=hd / Pascal
(d) Ei?l / Hertz

5y Topdes RO e 27

Rainbow is formed because of

(a) YT T ThUH / Dispersion of light
(b) ¥ $1 fEdT / Diffraction of light
(c) V=Nl %1 3AY=dd / Refraction of light
(d) W %1 wEd / Reflection of light

afg forelt avg 1 g 6 fomm 2, oY <igW ) TaE W AN YU IEeT a9 91 g?
If mass of an object is 6kg, what will be its weight when measured on the surface of moon?

(a) 98N b) 98kg
© 1IN (d 2kg

38 F Y& W F g 3w R IR T AR Rew smum wowm ) §7

Lactometers used to measure the purity of milk work based on
(a) =g =t Tifa 1 Fram / Newton's law of motion
(b) gaHHE TA / Magnetic force

(c) faga e e / Electromagnetic force
(d) s Rrg@ / Archimedes principle
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77.

78.

79.

80.

oy %1 ue¥ 981 9gETR
Largest ocean in the world?

(a) FeIesh HEMFR / Atlantic ocean (b)
(c) VI "ERTR / Pacific Ocean (d)

sy w3 T e o ot s R T &7

Instrument used to measure earth quake?

&2 72MrR / Indian Ocean
ITehiosh UMK / Arctic ocean

(a) HEHIT® / Seismograph (b) TR / Accelerometer
(¢) M WX / Ohm meter (@) ¢HUW / Tachograph
ad 2026 o URETE e & ATEH o <Y SRt |

Asian Games in the year 2026 will be hosted by
(a) +H / China

(b) <faor wifEn / South Korea

(c) SN / Japan

(d) ¥4 3 / Saudi Arabia

T et e Suestor # 2T ST § O HEE GRS T w1 A0 ?
If a fire is noticed on any electrical apparatus, the first thing to be done is

(a) T 9F S / Immediately pour water

(b) Torga smfd @ 9 € / Switch off the electrical supply
(@) < YR % ARmE qF H1 TET B/ Use water type extinguisher

(d) ﬁgﬂ ITHW FI YHTH §eH H T9H L / Try to remove the electrical apparatus by

holding it

arred wreft ®, 9@l Bl I

{a) Fvfesh 999 / Molecular weight

(b) YHM] T / Atomic number
(¢) tiTsFneiieran / Reactivity
(@) ifess fafa / Physical state

¥ W 0 & saarerd e sar 2

In the periodic table, elements are arranged in the increasing order of their,
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